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ENGLISH

13. Read the passage given below and answer the
questions that follow —

It is no easy matter to decide what is right and
what is not ? One little test I shall ask you to
apply whenever you are in doubt. Never do
anything in secret or anything that you would
wish to hide. For the desire to hide anything
means that you are afraid. Fear is a bad thing
and unworthy of you. Be brave. If you are
brave, you will not fear and will not do any-
thing of which you are ashamed. You know
that in our great Freedom Movement, under
Bapuji’s leadership, there is no room for
secrecy. We have nothing to hide. So in our
private lives let us do nothing secretly. And if
you do so, my dear, you will grow up a child
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of light, unafraid and undisturbed, whatever
(Taken from Nehru's ‘A Birthday Letter’ to
his daughter Indira on 26th October, 1930.)

(A) Which test does Nehru want Indira to
apply when she does not know what is
right and what is not ?

(B) Who was our leader during the great
Freedom Movement ?

(C) Nehru advises Indira to be brave. What
advantage will it give to her ?

(D) How, according to Nehru, will Indira
grow up if she does not do anything
secretly even in her private life 7

(E) Find the word from the passage which
means 'to keep secret’

14, Last Sunday you enjoyed a family picnic on
the banks of a lake. Describe the scene around
the lake in about 50 words in the form of a
paragraph. Use the following clues—

® crowd-men, women and children
@® beautiful lawns

@ games children played

@® boats on the lake

® some people swimming

15. Rearrange the following words / phrases to
form a meaningful sentence —

class / the boys / not/ were / in the,

16. Join the two seniences below as one using an
appropriate clause—
Those days are gone.
You could leave your doors unlocked.

17. I gave her a beautiful flower.

Rewrite the above sentence beginning with ‘A
beautiful flower—

18. Fill in the blank in the following sentence
with the correct form of the verb given in the

bracket—
| (reach) the station before the train
left.

19. Fill in the blank with an appropriate deter-
miner—
Have you seen ......... one-rupee note ?
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MATHEMATICS

Directions—(Q. 20-54) For each question,
four possible answer choices have been given, out
of which only one is correct. You are to select the
correct answer and encircle the letter by its side.

20. V00625 + V009 is equal to
M-ss

(A) 028
) 28 (D) 0028
V729 + Vezs .
21. The value of ~oe 222 i
vame ot e Vezs
1 1
(A) 5 ® 5
( D) 24
22. Simplify—

=N
15625 ~ \/ 676
25

g ®) ¢
26 676
< 25 (1) 625

23. With what smallest number 77175 should be
multiplied, so that the resulting number is a

pecfect cube 7
(A} 5 15
(& (D) 45

-l 2
127\
24, [(151—6 ] equals—
OF of5

(5 o 2
25. The simplification of
1
ot
@43y ¥+ [64)7 ) gives—
® 3

of’

A)

Chich 90|~]

©

26.

27.

28.

29,

30.

3l

32.

The value of 3x® + 2% + 4x)?, when x = -2
and y =2 is—

(A) 16 (B)

(C) 52 —48

H (1 - x?) is divided by (x! + 1), the result
is—

&) 11 o=

x X
= X
© x=1 ®) x+1

IHa®+ a% = 62, then the positive value of

3(a+3;)is_
(A) 8 B) 16
( ) -8
One of the factors of

42 + ¥ -7 - 4dxyis—
(A) x+y-2 B) 2Zx+y-z
{CMI—)'—: D) x+2y-z
The factors of 7x% = 11x ~ 6 are—
&) (x-3),(x+2)
(B) (Ix—3),(x-2)
{C x+3),{x-2)
@) (x+3),(x+2)
The isstion of 8x® — 27" gives—
( -3y (422 + 9y + 6xy)
(B) (2xr—3y) (2% + 9y? - 6xy)
(C) (2r—3y) (4x2+ 952+ 12xy)
(D) (2x + 3y) (4 + 9y* + 6xy)

The smallest of the five consecutive odd
numbers whose sum is 75, is—

(A) 15 ®) 19
© 13 ol
x-a x-b

B g A b, then x equals—

(A) a-b W aeh

© b-a @) & -p*

. An angle is equal to five times its comple-

ment. The measure of the angle is—
(A) 30° ®)
(C) 60° 50

. . -
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35,

kYR

In the figure, if AB Il CD, ZABE = 100° and
LBED =25° then £CDE equals—

A C
QY p
E
(A) 75° (B) 100°
©A25° D) 135°

. In the figure, AB Il CD. If ZABE = 120°,

LCDE = 140°, then £ BED equals—

A B
120*
E
140"
C D
A) 9%° (n/mo'
(© 120° ®) 140°

In the figure, ABCD is a square and on the
side DC, an equilateral triangle DCE is con-
structed. The value of ZDAE is equal to—

E
D ,." C
A B
(A) 60° (B) 43°
© 30°
. In the figure, ABC is an equilateral triangle

and PQR is an isosceles triangle in which PQ
= QR. If ZPQR = 50°, then value of Zx + Ly
is—

41.

42.

. In a cyclic quadrilateral

(A) 115° (®) 120°
(q/;zs' (D) 135°
. Infigure, ABCD is a quadrilateral and AP and

DP are bisectors of ZA and /D respectively.
The value of x is—

A B

o,
D (o]
(a) 60° (B) 75°
A5 ®) 105°
Jif LA = (x + 10)°,
ZB = 2(x + 5)° and £C = 2(4x — 5)°, then
measure of ZADC equals—

D C
2ax= 5

o
¢ sy
A B

A (8) 100°
o Dy

In the given figure, O is the centre of circle
with ZAOB = 110°, then ZACB equals—

(A) 9%0° B) 75°
(0P D) 35°
In the figure, O is the centre of the circle and

CA is a diameter. If ZCAB = 55° and £DBC
=30°, then x equals—

(A) 30°
() 40°
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43,

In the fignre, O is the centre of the circle, AC
is extended to D such that ZBCD = 82°, The

. measure of £ AOB 13—

49,

A square of side 7 ¢m is inscribed in a circle.
The area of the circle (in cm?) is :

[Use n= 27—2]
(A/W

(B) 154
g B (C) 308 (D) 385
: e 50. The areas of three adjacent faces of a cuboid
are 12 cm?, 15 cm? and 20 cm?. The volume
AN___~T D of the cuboid (in cm?) is—
J164° (B) 98° (A) 3600 ®B)1
(©y 92° D) 82° (C) 600 1)
44. In the figure, O is the centre of the circle. The 51, The curved surface area of a cylinder is 220
measure of ZCDB equals— ' Lo I
i 5q. cm. If the height of the cylinder is 5 of the
radius, the volume of the cylinder (in cm?3) is—
(/ [Use x= 3_}2
(A) 350 770
{C) 385 (D) 1540
52. The radius of a cylinder whose height is 15
Mﬁ“ (B) 30° cm and curved surface area is 660 cm?, is—
<) 35 (D) 45 Use 1 = 2;_2]
45. A wire is bent in the form of a citcle of radius
35 cm. It is cut and bent in the form of a rect- (A l4cm (B) 2 cm
angle whose sides are in the ratio of 7 : 4. The (C) 8cm 7em
therons of the technle (it Erd= » 33. The radius of the base and the height of a
are | Usen== right circular cylinder are each increased by
7 10%. The volume of the eylinder is increased
(A) 77,44 %0, 40 by —
(C) 35,20 (D) 105,60 (A) 30% W 331%
46. The sides of a right angled triangle are in the C) 441% D) 45%
ratio of 3 : 4 : 5.If its perimeter is 60 cm, the 54 The ratio of the respective volume of a cone,
area of the triangle (in sq. cngpis— cylinder and sphere, with radii equal and
{A) 300 ( 50 height equal to radivs (in case of cone and
(© 125 @) 250 cylipder) is—
47. The parallel sides of 2 trapezium are 12 m and &£ 1:3:4 (B)3:1:4
8 m and the distance between them is 6 m. ) 4:3:1 ) 1:4:3

48.

The area of the trapez'rummiy
(A) 48m? 60 m?
() 72m? (D) 120 m?

The side and a diagonal of a thombus are of
lengths 10 cm and 16 cm respectively. Its area
(in cm?) is—

(A) 48 (B) 64

( (D) 192
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GENERAL SCIENCE

Directions —(Q. 55-89) For each question,
four possible answer choices have been given, out
of which only one is correct. You are to select the
correct answer and encircle the letter by its side.
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55.

56.

7.

58,

59.

Which of the following are elements ?

1. Gold 2. Mcthane
3. Bauxite 4. Oxygen
{A) land?2 (B) Zand 4
(C) 1,2and 4 1and 4

Two substance P and Q were made to react to
form a third substance P,Q according to the
following reaction—

2P+ Q—P.Q
Select the correct statement about the product
P,Q.
(A) The product so form is an element
(B) The product P,Q cannot be classified as

a compound
(C) The product P,Q will show the properties
both P and Q
( he product so formed will always have
a fixed composition

Select from the following a set which
comprises of one element, one compound and
one nyKture—

( ydrogen, carbon dioxide, water

(B) Soil, water, oxygen

(C) Silver, gold, methane

(D) Air, water, sulphuric acid

Consider the following pairs —

1. Carbon and sulphur

2. Diamond and graphite

3. Graphite and Buckminster fullerene

4. Graphite and sulphur

The pairs having similar chemical properties

m_

(A) 1and 2 {nﬂ and 3

(C) 3and 4 (D) land 4

Carbon exists in the atmosphere of earth in
the fgfm of its—

(A allotropes

(B) oxides only
(C) oxides and carbonates
(D) oxides and hydrogen carhonates

. Study the following statements —

1. CNG is an ideal fuel which does not
contain carbon.

2. Most carbon compounds have high melt-
ing and boiling points.

61.

62.

63.

3.  Except graphite all other allotropes of
carbon are bad conductors of electricity.

4. Most carbon compounds are poor con-
ductors of electricity.

Correct staternents about carbon are—

(A} land2 (B) 2and 3

(€5 and 4 (D) 1and 4

Study the following statements —

1. Graphite is used in making clectrodes.

2.  Many cutting tools are made from grap-
hite.

3. Graphite is used as lubricant.

4.  Graphite cannot be bumt eas:ly

The gprrect statements are —

(A land 3 (B) 2and 3

(C) 3and4 (D) 1and 4

Which one of the following is the most

abundant metal in the earth’s crust ?

(A) Iron (B) Zinc

(C) Sodium Aluminium

Which one of the following is a group of ores

from which iron can be conveniently and
profitably extracted ?

{A) Galena and Magnetite
(B} Cinnabar and Haematite
{C) Bauxite and Galena
(D)ﬁagnctite and Haematite

. Metallurgical processes (process of obtaining

pure metal from its ore) involves following
steps —

1. Extracting

2. Refining

3.  Crushing and Grinding

4, Concentration

The exact order of these steps js—
(A) 3,1,2,4 (Mil.z
© 31,42 (D) 1,4,2,3

. Metals generally react with dilute acids to

produce hydrogen gas. Which one of the follo-
wing metals does react with dilute hydroch-

loric acid ?
(A} Aluminium . (Bépper
{C) Iron (D} Magnesium

. . -
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67.

70.

71.

. Metallic oxides are basic while non-metallic

oxides are acidic in nature. Aqueons solution

.of which of the following oxide will furn blue

litmus to red 7 -

(A) Copper oxide

(B) Iron oxide

{C) Mggnesium oxide

(D ulphur dioxid.e

Which one of the following groups contain
basic ingredients for making cement ?

(A) Alurm_na iron oxide, gypsum, sand

(B) Calcium carbonate, alumina, gypsum
{C) Sapd, clay, iron oxide, calcium carbonate
( n oxide, alumina, calcium carbonate

. Select from the following a group of biodegr-

adable substances—

(A) Cotfon, silk, nylon
(B) ton, rayen, sOap

( ilk, cotton, detergent
(D) Polycstcr rayomn, soap

. Consider the following statements about the

use of large amount of fertilizers and pesti-
cides—

1. They are useful and ecofriendly.

2. They destroy the soil fertility.

3. They adversely effect the useful compo-
nents from the soil.

4. They turn the fields barren after some

time.
The correct statements are—
(A) 1and2 only (B) 3 and 4 only

(C) 1and 4 only (@7, 3and 4

Plastics are man-made materials. The most

common properties shown by plastics are —

(&9 Non-reuctiveness; durability; light in
weight .

(B} Good conductors of heat, durability,
ductility ' ’

(C) Malleability, electrical conductivity, light
in weight

(D) Non-reactiveness, lustrous, good conduc-
tors of heat and electricity

We have three identical bars P, Q and R placed
on a table as shown. The bar P is a magnet
with its North pole at 1, the other two bars
may or may not be magnet, but it is foand that

the three ends. I, IT and TIT attract each other.
Select the correct conclusion about ends IT
and I (or about Q and R}— '

P Q
W &
Dm
(Qand}{arermnbars

(B) Il and IIT are South poles
(C) Out of R and Q only one is a magnet
with Il or [IT as South pole

(D) End II is & North pole and I is a South
pole or vite versa

72. A child has a 6 em long bar magnet AB. He

rolls it in a mixture containing sand and
copper filings. He observes that the copper
filings—
(A) get attzacted equally to both ends of the
magnet
do not move at all towards the magnet
(C} get attracted to the end ‘A" only
(D) get attracted to the end “B” only

73. A student has a 15 cm long magnetized iron

strip. He cuts it into three parts of 4 cm, 5 cm
and 6 cm length. He tests each part and

es that—
?:11 paris behave as a compiete magnet
(B) 4 cm long part lose its magnetization and
6 cm long part behaves like a complete
magnet
(C) only 5 cm long part behaves like a magnet
(D) 4 cm long part behaves as South pole
while 6 cm long part behaves as North
pole.

74, A rectangular box is kept in three different

ways on a flat surface as shown. The pressure
exerted by the box on the flat surface will
be—

_@

maximum in position A
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75,

76.

77.

78.

(B) maximum in position B

(C) maximum in position C

(D) same in all cases

A tank filled with a liquid has four taps fixed
at points P, Q, R and S as shown., If these taps
are opened simultaneously, the liquid will
flow with the same pressure from the taps at—

Q e

s
(A) PandQ (M{mdn
{C)y Rand S (D) PandR

The dimensions of aclassroom are 7-5m x 6 m
% 4 m. If the density of air at normal atmo-
spheric pressure is 1-:293 kg/m®, the mass of
air present in the room is nearly—

(A) 65kg (B) 135kg

(C©) 180 kg Pr230ke

In big buildings which of the following is
used as a safety device in place of an electric
fuse ?

(A) An ISI marked electric switch of proper

power rating

(B} A piece of insulating material enclosed
jn sealed bux

(G¥ A miniature circuit breaker of proper
power rating

(D) A thick piece of metallic wire having
high melting point
A student has designed an electric circuit as

shown. In this circuit when the switch in
‘ONl__

B; B, B;

e
Buttcry  Switch

(A) bulb B; glows first

(B) bulbs B, and B; glow simultanecusly,
hile bulb B, glow a little later

(CY all the bulbs glow at the same time

(D) the bulbs glow in the order B, B, and B,

79. The actual meaning of the term ‘Unit’ used in

81.

82.

83.

connection with consumption of electricity

15—
{W{ﬂowau hour

(A) watt hour
(C) joule hour (D) kilojoule hour

. In the given figure of human eye the correct

labelling of the parts 1,2, 3 and 4 is—

(A) 1-Ciliary muscle, 2-Lens, 3-Cornea,
4-Tris

-Iris, 2-Cornea, 3-Lens, 4-Retina

2-Iris, 3-Lens,

(B)

(G 1-Ciliary muscles,
4-Cornea

(D) 1-Optic nerves, 2-Iris, 3-Lens, 4-Ciliary
muscles

No matter how far you stand from a mirror,

your image appears erect. The mirror is likely

to he—

(A) Plane only
{B) vex only
{ ither plane or convex

(D) Either plane or concave

Light is falling on surface 8, 8, 55 as shown.

Surface(s) on which the angle of incidence is
equal to the angle of reflection is/are—

u(omysl (B) Sy and S,

(C) Sl andS;, (D) 81’82383

Two mirrors X and Y are placed at right
angles to each other as shown. A ray of light
PQQ incident on mirror X at an angle of 30°
falls on the mirror Y after reflection from the

. . -
PaVZ I M e d I a Pavzi Model Papers Download with Study Material for all Competitive Exams and P V Z

Entrance Tests Previous Question Papers along Answers Keys for getting Best Score at all exams


http://www.pavzi.com

Pavzi Media - www.pavzi.com

 mitror X. The angle of refiection for the ray "H.. Mt provides hamis to soil:
reflected from the mirror Y wouid be— OI. Ithasa balance of all plant nitrients.
¥ . B, It enhances water holding. capacity of
i soil.
o * .Séiecr;ﬂle combination of correct statements-—
(A) LILIV (BYFIL, L, IV
© LIL1V ®) LO,.m
88. Select the correct statement from the follow-
ing—
(A) ‘Waste from a nuclear power plant can be
Q W o b disposed off easily _
(A) 30° {B) &0° (B) There is unlimited storageé of Tossil fuel
(C)y 1207 ) 150° ingjlt the earth .

84. Which of the following are recently origi- ( ydro energy and wind caergy power
pated problems of environment. ? plants are non- palluting sources-of energy
1. Ozone layer depletion (D) Sun can be taken as ap inexhanstible
2. Global warming source of energy
3. Green house effect B9, Study thefollowing statements— :

4, Cloud birst J.  Biomiassisarenewable source of energy.
5. Earthquakes ' I. The mainingredicnt of biogds is ethanc.
6. Floods ~ HI. Gobar-gas is produged:-when crops,

1,2,3 (B) 2,3.4 vegetable waste etc, decompose in the
(O 13,3 - (D) 2,4,6 ahsence of oxygen. :

85. Select the statement which does not correctly [V. We should encourage to plant more trees
defines the term ‘ water pollution’ — g0 as to ensure clean egvu‘onrﬂeht and
(A) A change in temperature of the water also”pr?v-ldc bmmss f“e_l'

ies The setof correct statements is—
(Jghange of pressure of the water bodies (A} JII 10 {8) I, IIL, IV
(C) The addition of undesirable substances LIV @) LILIV

to water bodies

(D) The removal of desirabilc suobstances
from water bodies

86. Read the following statemnénts —

I. Tmigation improves the s6il texture.

II. Plants can absorb nutrients mostly in
dissolved form.

IIl. Seeds require modsture for germination.

IV. hmigation protects crops from both frost
and hot air currents.

Choose the combination of statcments which

justify the need to irrigate crops.

(A) Lagd IX (B) 'and III
{C ‘and 1V (D} Tand IV

87. Read the following slatenients about organic
manure —.

I. It improves texture of soil.

. . -
PaVZ I M Ed I a Pavzi Model Papers Download with Study Material for all Competitive Exams and P i% VZ l

Entrance Tests Previous Question Papers along Answers Keys for getting Best Score at all exams


http://www.pavzi.com

Pavzi Media - www.pavzi.com

quzi

FINITE AND SOLUTIONS
HINDI

1. (©) 2.4 3.4 4D 50O
6. (A)  7.(A)
8. ¥ Ry M 3w wn—H R fhew d@w &=

qST S . BY W H BT 500 R & g W
‘Sryfa’ frmER &, RBRamer 8 g g
TET T @A & T84 8. 39 959 W §
IH T ke @EA ST &I &, AW & I8
T pi-mY e ® e o 2@ forr &ean
1. e 2@ & T BE-T-HE FEMT 9
ewi’rm"rﬁuosoﬁ%mmm ﬁaﬁa&f
T 25 AT Lo ot

%ﬁmm@mﬁiwaﬁﬁm A %ﬁﬂé‘f

Ent

Tests P Question Pap long Answers Keys for getting Best S t all exam
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. 77 fisit 9 59 fowr @t % weEn & 4.
9 33 o7 &1 3@ & gy fean. 9 o
Tt # fipthe T @ies &1 8T T T
75 @ fou. s\ & 3 I F fRde Ioom @
fpe @ww &1 TEAT e X ¥ Foer. &
ool A el B W W @t AR e
Tar. feme AHT qEEAT A 93 4.

5 o B Al . § o & ol THeE
NG FW @ B 91 g FE Ao ot fF s
Y At o 9ol s 49 die @ e

beautiful lake. Nainital, a beautiful city is
situated around the lake. All the four sides of
the lake looked very charming. Many men,
women and children were roaming around the
lake, enjoying the beauty of the lake. These
was a big playground on one side of the lake.
A football match was being played on the
ground. There were about 30 boats in the
lake. People were enjoying boating. Some
young hoys were swimming near the banks of
the lake. We also enjoyed boating, Visit of
Naini lake was a good experience.

? g2 W &3 g, =t 74 @2 % g @7 15. The boys were not in the class.
#ie w ¥ 4. § gAY T A1, /A %  16. Gone the days when you could have left your
A A AR A S o B SN fad g doors unlocked.
ﬁ‘ﬁq T B FEl. qUE § A % TH  17. A beautiful flower was given to her by me.
m'ﬂmﬁ'wmﬁ‘ﬂﬁw 18. T had reached the station before the train left.
i?m; = If?ﬂ‘(f ; ?I’Hm'fl:: Hﬂgﬂﬁ ?ﬂg 19. Have you seen a one rupee notc ?
a1 5 R A # wag e e T T MATHEMATICS
oEr. # W wo e B faer safy % A
Reer 2t 7 . % @ @ O T A
AFE ST Aq B R I g9 RE 2. (5 voRsiveld = 0550
frar. et % Tt #F B wweHr A B = 035
it g9 & o ow § R At B o V729 +V625 27425
. - 2!- (C) =
Wﬁﬂi’@ﬁﬂﬁwg V729 - V625 27-25
9. (B) 10.(D) 11.(B) 12.(A) _ gg_%
=5 =
ENGLISH 22. (A) Cube roots of 17576 and 15625
13. (A) Nehru wants that Indira should not hide _ 2/ 17576 _5] 15625
anything when she is in doubt about 2| 8788 _5]3125
- :hat 13 wIOng an:i :rdhat cils n.ot. N 2| 4394 5] 625
apuji was our leader during the great T el ane
Freedom Movement. 1312197 51125
(C) Nehru advises Indira 1o be brave because AgLIn - .
brave persons have no fear and they 13 5
never do any shameful deed. 5 %
(D) According to Nehru Indira will grow up Y 17576 = 26 V15625 = 25
as a child of light, unafraid and
undisturbed if she does not do any thing Also V625 = 25 V676 = 26
secretly even in her private life. 3 e :‘6—2*5-
. 26 25
8 de. —_— ——= o =i
(E) To keep secret means to hi 15625"\]676 = 55 *26
14. Last Sunday I with my parents and with my
little sister went to Naini lake for a picnic. We =1
hired a taxi from Kathgodam to Nainital. 23, (B) We will try to find out the cube root of

Situated in the Kumaon hills, Naini lake is a

77175. Factors of 77175 are
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| 77175
25725

8375
1715
343

49

-

TIEIS = Ix3x5x3xTx7x7

It is clear that if we multiply 77175 by 3 = 5
i.e., 15 the resulting number will be a perfect
cube.

w2y ] - [y
- (216 ]
[O]
iy

1 1

25. () 24375 + [6475]?
1
- O S [4P

1
T

31
]+1
&~ 3
2+3

]

5
6
26. (D) When x = — 2 and ¥ = 2 the value of
3 + 297 + day?
= 3=2P +2(22 +4(-2) 2P
= Ix(=-R)+2u4-8x(2)?

= —24+8-32
= -56+8
= —48
27. (B) (I-xD+@Gt+1) = loa?
. xl+1
£ d
_ e
Lt
A

-1
_
Tox+l
X
_ox-1
Toxfx+ 1y
_ e+ 1yix—1
T x(x+ D)
_x=1
T oox
28. (C) We know that
(o)) -3
a+ = a*+5+2
a @
. il
(a+— = 6242
b}

7
=
e
®o =
S’
B
1}
g

e+~ = 8§
a
{Considering only + ve value)
3 (a P 1) =3x8
14
= 24

29. () 4x% + yi— 72 _dxy
= 4 —dxy+yr- 2t

(2x -yy-2*
Rr-p+2(2x-y-2)

Therefore one of the factors is (2x — y - 7).
30, (C) TX2—11x-B = 72— 14x+3x -6
Txx-2)+3x-2)
= x-2)Tx+ 3
2y - 3y
= (2x -3y (422 + 92 + Gxy)

H

31, (A) 8x° - 27y

32. (D} Let the five consecutive odd numbers be

X x+2, x+4. x+06andx + 8.
i+x+2+c+d+x+6+x+8=75

= Sx+20 = 75
= Sx = 75-20
= 5x = 35
= x=11

Therefore smallest add number is 11.
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xr—a x-b = LDEF = 40°
8.18) b T a when EF I| AB
= a(x—-a) = b(x-b) LABE + ABEF = 180°
= ax-a® = bx—-b ZBEF +120° = 180°
= ax-bx = a*-B? - e £LBEF = 180° - 120°
= x{ga-b = (a+b){a-b ZBEF = 60°
lea x=a+b ZBED = /BEF+ LDEF
34, (D) Let the number be x. Its complement will = 40° + 60°
be (90° - x). = 100°
A= S0~ 37. (D) In the given figure ABCD is a square and
=5 x = 5x90°-5x DEC is an equilateral triangle.
= bx = 5x90° LADE = LADC + £ZEDC
. oo 3x90° LADE = 90° +60°
6 . - LADE = 150° N
= x = 75 Also AD = DE
35. (C) Produce CD. CD meets BE a1 G. = AADE s ShuisoRelcStidhgle
CABE = 2 bR Let LDEA = x
ADGE « 100 -, ZDAE + LDEA + ZADE = 180°
A = X+x+150° = 180°
= 2x + 150° = 180°
= - 2x = 180°—150°
= x = 30°
- = x = 15°
38. (C) A ABC is an equilateral triangle.
LALA=/B=LC=60ie.,x=60°
In A DGE A PQR is an isosceles triangle PQ = QR
/DGE + /DEG + EDG = 180° LP = ZR=Ly
5 100425°+ ZEDG = 180° y+y+50° = 180°
= 125° + ZEDG = 180° 2y +50 = 180°
= ZEDG = 180° - 125° 2y = 180° - 50°
= LEDG = 55° 2y = 130°
LCDE + ZEDG = 180° y = 65°
ZCDE +55° = 180° x+y = 60°+65°
ZCDE = 125° x+y = 125°
36. (B) Draw EF Il AB Il CD 39, (C) ABCD is a quadrilateral
when EF Il CD LA+ B+ £C+ 4D = 360°
LA+130° +60°+ LD = 360°
LA+ 2D = 360° - 190°
LA+ 4D = 170°
= %LA-&-% LD = 85°
ZCDE + ZDEF = 180° In A APD
£DEF +140° = 180° AP and DP are bisectors of ZA and £ZD
= LDEEF = 180° - 1407 respectively.
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_ 8. o
111A+l' /D4x = 180° 44, (A) ZBOE = 180°-130
Z 2 = 50°= LOEF
= 85°+x = 180°
= x = 180°-83°
= x= 95

40. (C) Given that ABCD is a cyclic quadrilateral
LA+ ZLC = 1RO
(opposite angles are supplementary)

x4+ 10° + 2(4x - 5°) = 180°
= x+10°+8x-10° = 180° £OED = £BEC=75°
= 9x = 180° LEDC = £OED - £OEF
= x = 20° Let LEDC = y°,y°=75°-50°
/B = 2(x+5% = 25°
£ LB = 2(20° + 5% 45, (B) Circumference of the circle
= LB = 50° . 2W22
B+ /D = 180° =2x-:}-x35
50°+ 4D = lSD: ) I
4D = 180°—5{) Sides of the rectangle are in the ratio 7 : 4.
4D = 130 2(7x +4x) = 220
£ZADC = 130° 22x = 220
41. (C) We know that the angle formed by a chord x =10
at the centre is double the angle formed by the Sides are 70 cm and 40 cm
chord at any point on the circumference of the 46 (B) Perimeter of the right angled triangle is
circle. 60 cm.
ZACB = 1’.}(“00 Ixt+4x +5x = 60
2 = 12x = 60
= 882 = X =5cm
42. (B) Given that CA is the diameter of the Sides of the right angled triangle are 15 em,
circle. 20 cm and 25 cm.
CREEE 20 Area of the triangle = = x 15 x 20
In A ABC 2
LACB + LABC + LBAC = 180° = 150em?
= X +90° +55° = 180° 47. (B) Area of trapezium
= x = 180°-145° " %{sumnfﬂ:e parallel sides) x height
= x= 35
2 1
43. (A) AOBC is a quadrilateral = 5(12+8)x6
LACB = 180°-82° = 60 cm?
LACB = 9%° 48. (C) We know that a diagonal of a rhombus
Chord AB(large) forms ZAOB, at the centrc divides it into two equal triangles.
ZAOB = 2 ZACB Sides of the triangle are 10, 10 aﬁnd 16 cm.
LAOB = 2x98° e 10+120+!___
= Igﬁo ‘.. s = 18
Inside ZAOB = 360° - 196° Now c = 18
= 164° s—a =8
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s—b =28
and s-c =2
Area of the triangle

.. Area of the Rhombus
2 = 2 x48

= 96 cm?

49, (A) Diagonal of square =

Radius of circle

Area of circle

50, () D
15

Vs(s-a)(s-b) (s—¢)
VIEx8x8x2

48 cm?

Diameter of circle

E
As per question,

AR
BF
. Volume of cuboid

3cm

Som

4 cm

3 %5 x4 cm?
60 cm?

51. (B) Let radius of cylinder r and height is h

then,
Curved surface = 2ntrh = 220
Jio= ><§
= T _7
220x7_
Ll
= = 3—5‘5’(—7:49
r = 7em
h = 5cm
z 22 5
Required volume = 7 %49 x 5 cm
= 770 cm?
52. (D) Curved surface of a cylinder
= 2nrh
Mmxrx15 = 660

53.

54.

(O
- (B)
- (A)
75.
80.
85.

2834

660 x 7

"= 2x22x15
r=7cm
(B) Let 7 be the radius of the basc and & be
the height of the cylinder
Volume of the cylinder = nr2k
New radius = ‘}"é—gr= I'lr
; 110
New height = lmh—l 1h
New volume = a(1-132 2 (1-1)h
m(1-1)? x Rk
Increase in volume = n(1-1)*r*h — h

ok (111 = 1]
mrh [1-331 1]
nrth [0-331]
Percentage increase in volume
arth x -331

nrlh

= 331%

(A) Radii of a cone, cylinder and sphere are
equal. Height of the cone is equal to the height
of the cylinder. Height is equal to radius ie.,
h=r.

x 100

¥

Volume of the cone =

Volume of the cylinder =

1]

|
=
o

Volume of the sphere

Ratio of volumes of the cone, cylinder and the

4
sphere =, %m-’:ma:snﬂ
1.4
§il:3
= 1:3:4

=

GENERAL SCIENCE
(D) 57.(A)
62.(D)
67. (D)
72.(B)
77.(C)
82. (A)
87. (D)

56.{D)
61.(A)
66. (D)
71.(A)
76. (D)
81.(C)
86. (C)

58.(B)
63.(D)
68.(C)
73.(A)
78.(C)
83.(B)
88.(C)

59.(A)
64.(B)
69.(D)
T4.(A)
79.(B)
84.{A)
§9.(C)

(B)
©
(B)
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